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PART-I
One Mark Questions

MATHEMATICS

_______ be the length of siden of square inscribed in circle ¢ ,c,,c,

o be radius of circlec,c,, __ _ _ _

Sol-Leta,a,,a,

andr,r,,r

then, a2 =2 = pr/

_ 2
-

207 =2 ot =2 =pr; "
p p

1
k=B

N

5 Area(Ci) = pi

i=0

:p+2+£+£ =L= P

p p° 1.2 p-2

Ans. (D)

Sol.(A) [x +y] £ [x] +[y]
3 5
forXZE-y:
é3 5u.é3u é5u
& 30" &4 &
é9+10@
P &6 |
b 3£ 2 false
(B)[xy] £ [x]ly]

fi X_Ey_E
orx=2Y =3

£1+1

élsu.,. ..
~—nEl 1
&6
b 2 £1 false
©[21£2"
forx=7/2
[27/2] £ 2[7/2]
4 ]JZU 3
b §128) HE2
b 11£ 8 false
éxu . [X] -
D) é-uf 7 true " xI R
O

Ans. (A)
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Sol- When ‘n’is even

An — nCn/2 =2
A

n-1 rI-lcn-1/2
then n ={2,4,......,20}
when 'n’ is odd
A, _"C. _ 2n
A e n+1
is true of orn=19
Ans-(C)

n-1 n-1/2

Ans-(B)

©.1)

0=n/4

(1++2,0)
Sol-

Ans - (B)

VAR

Sol- A

AS’' =SS’ = SB
b e=1/3
pa=3
Ans - (D)


http://www.pdffactory.com
http://schools.aglasem.com/
http://schools.aglasem.com/

7.

Sol- AB=BC

2 . q_ 1
Cosqg=— Sin—=—
q 3 and 2 \/E
2a=p- cosa=sing
=p-q 2
y 1
cosa =->=——
2a /6
a_ 3
y 2
Ans-(C)
4 -4 1
cos” X + S— =Sin" X +—
X sin“ x

o1

P cos’x- sin®x=— -
sin®x  cos?x

2 o4
. cos’ X - sin’ x
P (cos®x- sin® X)X =—"——"— "=

sin? x xcos’ X
. 1 .
p cost§L— ﬁlfJ:O
sin? x xcos? x
b cos2x =0

2x =t, t1 [0,4p]
sin® x xcos® x =1
sin® x(1- sin®x) =1
b t(l-t)=1
pt-t°=1

P t?-t+1=0
D<0

F A

1
NG
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IX+5 N
sol.f(x)=ix-2' X 2
f1 . x=2
f(x) is discontinuous at x = 2
f(x)=2
b x+5:2
X-2
P x+5=2x-4
P x=9.
Ans(B)

Sol- f(x) =[x]sin px

T f(x)=a

1+ U

Ans - (D)

Sol. sinx = tan®x
sin2x = sinx(1 — sin?x)
sin x (sin’ +sin—1)=0

sinx =0 sinx=\/g—-1
2
x=0,p sin'“/gT_l,p- sin'“/gT_1

Ans(B)
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12.

13.

14.

15.

16.

17.

1

Sol- 1= g(x*)dx

0
Let x2=t

1
dx = ——dt
2Vt
! dt
I = 10§ (t) —
pURPNG

1.1
el ol
27 2t

todt Lo odt
Od(t)3£od(t)2_x/f 5£1
Ans-(D)

Sol.F(x) = 1 +f(x) f(0)=0
f(x) _

1+f(x)

In (1 +f(x)) = x

then f(x +y) = f(x) + f(y) f(x) f(y)
Ans(C)

Sol. Qcos(2p[x}{xy})

n@lcos(Zp [x]dx) = an| dx =n
Ans(C)

SIPB—1§+1 134 &l
ol- ()_ B 568 7
Ans -(B)

avyi
Sol. h=it -
n

s“2=%5y12— it

=s?- %(x1 +X,)

s >s .
Ans()

Sol- Let side length = 2a

3
P GA=GB=a \/;

\ cosq=-

W]
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18.

19.

20.

21.

Ans.

Ans -(C)
Ans -(A)

Ans- (D)

5 +° E+5 gléIz+l—iu+@+ﬂ
Sol. C:2* Co T Co iz a2l s 1213

‘b

20 + 10x6 + 5[8 + 6] + 10 + 20 = 180

Ans - (C)

2L, m

©

PHYSICS

M(2L)?
J.L= (2L) w
12
L= ML2W
3
_3
V=ML
¥ 37
ke= —+—=23?/m
2m  2m
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1 1
= — 2+_ 2
mgh 2mv 2Iw

m h—lmv2+l MRw”
=75 2 2

1 1 3
= — 24+ — 2= — 2
gh 2mv 4mv 4v

4gh 4gh
2 =  |—— - ==
v 3 v 3
V = ,/2gh
Vp 4
— = |——=42/3
\A 372
Ans. (C)
23. V (r) =kr
k
U (r) = mkr w? = T
F= -ﬂ =-mk w = E
dr r
T= 2p\/F
NS
Ans. (A
24, Ans. (D)

25.  AV,=AYV,

1
P+ 2 dv?=Const.

d = density
IDlvl = I:)2\/2
Ans. (B)

26. Ans. (B)
27. Ans. (D)

28. Pv:=C
PV.V = K
nRT.V =K
VT =K
V,T,=V,T,
V2>Vl T2<T1
P1V 2= P2V,?

V22 — P1
V12 PZ
K2
P. F =C
P
K
Pl le


http://www.pdffactory.com
http://schools.aglasem.com/
http://schools.aglasem.com/

Ans.

29.

Ans.

30.

31.

Ans.

32.

2
AR_T

2
P2 T2
B)

év-ou
'=n & 0
-

é v u
"=n & 0
AR
n" v+v

n' _v+v, _330+30 _360 _

n" v-v. 330-30 300

S

Ans. (D)
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aKQo
WitagR G
aKQ kqo
- f—+—(-
W2_8R afa( a)
- ka?
W = aq
Ans. (C)

C
B Q=-E

CKC _ CX . CK

Ced= CykC ca+k) 1+K

_CK

Q_1+k
a&CK Cpo
&t =%

DR=¢1rk 25
a&CK Cpo
&t =%

DR=¢1rk 25
_2ck—c(k—1)
= 2a+k)

_ 2ck-ck-c _ ck-c
2(1+k) 2(1+k)

Ans. (B)
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36.

Ans.

37.

Ans.

38.

Ans.

39.

Ans.

40.

Ans.

41.

Ans.

42.

Ans.

V=ed
100
~ 20um

100,
1-— —"1=bv
v 20

(A)

dN
—=nl
dt

d—N=|dt
dt

6.93. 4
6.9
= 10*

(o)

N 160 6200 10°*°

4pR? N= 6.62° 10* " 3" 10°
_ 5710”10 16” 627 10

T 47 3.14° 3.24 T 207107 108

_ 571010 _ 496, |

T 47314 3.24 © 10

=1.25 x10%°

©

H
H
[

RO

_125
64

I
o
o
©l|n
V)
&)

(B)

10x8 = 80

11x7.5=82.5

Energy required = 82.5-80
=25

A)

CHEMISTRY
K., Ag,, = (Ag") (Br) = (5x10%°) (10%) = 5x10%

Kp Agbr
Concentration of Bris 10°M eqAgNO, = o]

. -13
_ 2 107 192 =5 10""m
(10°°)
D)

Over bromination take place in activated Anilive
A)
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43.

Ans.

44,

45,

Ans.

46.

Ans.

47.

Ans.

48.

Ans.

49.

50.

Ans.

51.

Ans.

52.

Ans.

53.

Ans.

54.

Ans.

55.

Ans.

56.

Ans.

57.

58.

Ans.

59.

Ans.

60.

+6 is maximum oxidation state of Cr

()
Ans. (C)

AlO, is amphotenic dxide

-Ea, 1
Lnk=LnA — —

R T
(A)

Ni(Co), is tetrohedral with d*° configuration

©

Ozenlysis and intromolecular aldol

(B)
Ans. (B)

Energy of t,g < eg orbitats in octohedral complexes

When Q_ > K_
Reaction move in backword direction
A)

SN-1 Reaction, morstable costocation is formed

©

- KOH = . KCl + . NaOH - . KaCl
)

Wolf kishner Reduction
B)

Compound is AsCl,
©

Valency factor of KMnO, =5
Se +MnO, + 8H" ® Mn*2+4H,0
D)

Ans. (C)

S= % = 6000 @22J/K I
S NPT ‘Mo
(A)

Ullmannj reaction
(A)

Ans. (C)
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BIOLOGY
61. © 62. (A) 63. B) 64. (D) 65. © (D)
68. B) 69. A) 70. (D) 71. © 72. A) ©
75. (D) 76 A) 77. (A) 78. B) 79. (A)
PART-II
Two Mark Questions
MATHEMATICS

81. Ans-(A)
0 BB | _ gty | 2oy

\  when n is multiplying of 3, then

S=e, 1/e

when n is not multiple of three,then

s= euze-uz

Ans-(C)
83. Sol-y=ax2 +bx + ¢

a>0,b<0,c<0

Alsoy(l)=a+b+c<0

y*=ax’+bx+c
]
(é,-Z)

Ans-(B)

84.

AP, = AP, +r1, +1,
r2\/§ =rN3 41+,
rz(\/g' 1) :rl(\/§+1)

r_2:2+\/§
¢

1

Ans- (D)
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85.

86.
87.

88.

89.

90.

(-5/3,250/9)

| 5/3
513 o :

(5/3,-1250/9)
Sol- Let f(x) = 3x3 - 25x
f'(x) =9x2- 25

5
! = +—
P()=0p *

f(-5/3) = 250/9 ; 27.7
f(5/3) =-250/9 ; -27.7
\ ncan take 55 values

Ans-(C)

Ans-()

!

p/2
Sol-1,=Q X" cos xdx
_apd
P I +n(n-1)I = 825 ....... ()

In- 2

g a,
Also naz‘zgn! (n-2)!

Ans-(A)

Sol- Q”[x][&]dx =Q” 200X + voorern.

= {50 forn=8
{66 forn=9
Ans - (B)

Ans- (B), Check forn=1,2, 3,......

Sol- No correct Option
(1,17),(2,17),(3,17),(4,17),(4,17),(6,17),(7,17)
Also (17,1), (17,2),

_______ (16,17),(18,17) = 17 points
_____________ (17,16), (17,18) = 17 points
So there are more then 34 points.

Ans-()
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91.

Ans.

92.

93.

Ans.

94.

Ans.

95.

96.

97.

Ans.B

PHYSICS
Initial Final
W
/o V=WR
A
From cons. of anguler momentum about A
b V_ZRW
T 7
b W = 2w
T 7
©
Ans. (A)
8 N\ Tmin
mv?2 _ Tmax
T...-Mmg= R (1) 0
4_.
V' mg mg

from energy cons.
ki + ui = kf + uf

1
O+mg(R-Rcosq) = > mv2+0
V2=2gR (1-cosq)

Put in eq. (i)
T, =3mMg-2mgcosq
Tmax
Tmin -
q=60°
(B)
. . R
Heat cap. is define as C =Cv +1-_g
3 R
= —R+—+R

C 2 1-3
()
Ans. (A)
Ans. (C)
At steady state capacitor will belave as open circuit

o 2,
L‘ v 4v

6V

So charge store in 1MF = 1x4 = 4mC
iNn2mMF=2x4=8mC

A
mg cosp
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8. F=r
' e
_2°15710°
M= "3 10°
m = 10%kg
Ans. (D)

99. E=f +eV
E=f+e(9)
1L1E=f +e(.9)
AE = .3e
E = 3eV put
f 2.4eV

Ans. (B)

100.  (MLoT?q*)=(ML2T%) 9 (ML2T2q )P (LT 9
Solving we get

Ans. (C)
CHEMISTRY
101. Ans.(A)
102. d=-M4 m= 28T
' T RT TP
M =123
\ acetic acid exiot as demine
Ans. (B)
103. DE = pH- D(PV) = DH- DNgRT
Ans. (D)
104. Ans.(C)

105.  N,(9)+2H,(9) ® N2H,(g)

D= é. (BDE)Reacant < é (BDE)Products
Ans. (B)

106. V,, +V_,=133+181
KClIform FCC Lattice
\ 2(V,, +V,) = a=edge length of unit cell
V=ad

Ans. (C)

107.  K,Cr,0,+6FeSO,+ 7H,SO,  Cr,(SO,), +3Fe, (SO,),+K, SO, + 7H,0
Ans. (B)

108. E° = SRP cathode - SRP a mode

Cell

=-0.44 - (-0.74) = 0.3V

DG =-nFE°,(n=6ele)
Ans. (C)
109. Ans.(A)

110.  XeF,+3H,0 ® XeO3+6HF
XeO, is SP* hybrid and pyramidal
Ans. (C)


http://www.pdffactory.com
http://schools.aglasem.com/
http://schools.aglasem.com/

AglaSem Schools

BIOLOGY

111. () 112 (O 113. (O 114 (A 115 (©) 116 (D) 117. (O
118. () 119. (A)  120. (A
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